Joboobtdgoboobodugon
Joooouggn

SR N .
AT B AR

D — HFHRRIE, 1990FN DRI 2 — S FHEETHEE L 5. Z0i
FHIT1999FDHHEIEKRENH 1R TR, 2K TFiR, PBD 3B D HI 727~ (3 Bl
7857 DI, 200090 10EREA D) . 22T, 2002 405 12 EHEFGRFHERS LU
LAREOD B THERIF 2317 2 Bt RO SpHT2-4 7.

An Analysis of the Results
of the World Computer Shogi Championships

Takenobu TAKIZAWA
Faculty of Political Science and Economics, Waseda University

The Computer Shogi Association has managed the computer shogi championships since 1990. From
the ninth, there have been first and second preliminary contests and the final.
In this paper, the author analyzes the opening board positions and the results of the finals.
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2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009
*EE A 28 28 28 28 28 28 28 28
SEFRE B 19 11 14 13 13 14 12 15
BT C 9 14 14 14 13 14 16 13

515 D 0 3 0 1 2 0 0 0
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